Mul-Neg-L1

Answers

Setl

Question 1

0:

1

2

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

25:

7Tx6=42
1x12=12
8x 12 = 96
6x1=206

6 x 11 = 66
11 x7=77
10 x 8 = 80
9xb5=45
6x7=42
I1x5=95

2x12= 24
2x10= 20
10 x 9= 90
11 x4=44
ox1=195

5x 8= 40
9x2=18
I1xb=95

11 x 8= 88
Tx2=14
5x 10 = 50
9x7=103
8x 3= 24
4x 11 =44
4x5=20

3X2=6

mul_1to12_1to12

25 marks|

Question 2

0:

1

2

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24:

25:

1 x10=10
1x2=2
3x 8= 24
10 x 6 = 60
DX b=25
9x 11 =99
2x8=16
12x9 =108
6x12= 172
I9x1=9
3x3=19
8XT7T=050
3x 8= 24
11 x9= 99
6xX6=30

4x4=16

10 x 12 = 120

8 x 10 = 80

10 x 12 = 120

4x6=24
12 x4=/8
4x2=2_5
6x6= 36
1x2=2
10 x 5= 50

1x10= 10

mul_1to12_1to12

25 marks|
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Question 3
0 Tx 11 =77
7T x10= 170
% 10x 1= 10
3: 1 xXx5=249

4 12x 11 = 132
5.5 % 6= 30
6 2% 2=/

7. 11 x 10 = 110

8 3x4=12
9: 3 X 8= 24
10: 4 X 8= 32
11: 77X 6= 42
122 3 x 9= 27
13: 11 x7=77
14: 12x 3= 360
15: 7TX6 =42
16: 7 x4=28
17 12 x1=12
18 2X7=14
19: 4x2=28

20: 4 x 5= 20
21: 10 X 9 = 90
22: 2X3=0

23 2x 11 =22
24: 8 x 10 = 80

25 9 x 12 = 108

mul_1to12_1to12

25 marks|

Question 4

0: 10 x9 =90
11 x4=/4
2. 2x5=10
3231 x5=195

4 9x3=27
5 2x10= 20
6: 10 x4 =40
73X 12= 36
8 4x9=36
9: 9x 11 = 99
10: 4 X6 =24
11: 2x9=18
122 11 x99 =99
13: 1 x2=2

14: 4 X6 = 2/
15: 10 x 4 = 40
16: 6 X 12 =72
17 3x4=12
18 1x1=1

19: 10 x 4 = 40
20: 9 x 3= 27
21: & X 12 = 60
22 Tx1=7

23: 3 X 12 = 56
24: 4 X 8 = 32

25 DX H =25

mul_1to12_1to12

25 marks|
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Question 5 [25 marks] Question 6 [25 marks]
0 bx4=20 0 7Tx1=7

L 7Tx1=7 1: 4 x10= 40

2 2x12= 2/ 2. 4x9=36

33X 11 =33 32 3x9=27

4 3x1=23 4 2x8=16

5 6x12= 72 5 TXT=49

6: 3 X 12= 36 6: 2x 11 =22

7. 12X 3= 36 7 9x 3 =27

8 12 x 8= 96 8 2X3=20

9: 4 x4=16 9: o X 11 = 55

10: 4 X 6= 24 10: 2x4=28

1: 1 x4=4 11: 7TX 9= 63

12: 5 X 12 = 60 12 2 X 11 =22

13: 6 x3 =18 13: 11 x 8 =88

14: 6 X 8 =48 14: 7x 10 = 70

15: 8 X 12 = 96 15: 1 x 10 = 10

16: 11 x 10 = 110 16: 4 X 5= 20

1. 3X2=06 17 TxXb=385

18: 9 x4 =36 18 7TxXH=35

19: 6 x 12 =72 19: 6 X7 =42

20 6 X 9= 54 20: 6 X 6= 30

21: 11 X 8 = 88 21: 7 x 10 = 70

22 9x2=18 22 3x3=19

23: T XT=49 23: 4 X 9= 36

24: 12 X6 =72 24: 4 x 1=/

25: 9 X 6= 94 25: 0 X 10 = 50
mul_1to12_1to12 mul_1to12_1to12
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Question 7 [25 marks] Question 8 [25 marks]
0 9x9=281 0: 10 x 5 =50

L 7Tx12=§4 1: 8 X 8= 64

2 2x6=12 2. 10 x 2= 20

32 7Tx4=28 3 10 x 12 =120

4 5 x4=20 4 12 x 5= 60

5 4x4=16 5 9x 11 =99

6: 12 x 10 = 120 6: 7x10= 70

7. 4 x12= /8 7. 12 x 10 = 120

8 12x 9= 108 8: 11 x5 =55

9: 6 X9 =94 9: 11 x 12 =132

10: 4 x6=24 10: bx1=145

1: 2x 11 = 22 11: 2x8 =16

12:. TX2=14 122 5 x 11 = 55

13: 10 x 2= 20 13: 10 X 6 = 60

14: 3 x4 =12 14: 8x1=28

15 12 x4 =48 15: 5 x 10 = 50

16: 1 x4 =4 16: DX D= 25

17: 6 X 9= 54 17: 10 x 10 = 100

18 7Tx 12 =84 18: O X 8= 40

19: 6 X 8 = 48 19: 12 x 9= 108

20 9x 3 =27 20 6 X7 =42

21: 8 X 9= 72 21: 1 Xx9=9

22: & X 11 = 55 222 1 x5 =15

23: 2X2=4 23: 6 X 10 = 60

24: 8 X 3= 24 24: 12X 7 =84

25: 8 X 10 = 80 25: 10 x 9 = 90
mul_1to12_1to12 mul_1to12_1to12
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Question 9  [25 marks] Question 10 |25 marks]
0: b x (=12) = -60 0: 6 x (—12) =-72
19 % (=7) = -63 1 1% (—10) = -10
2 6x(—2)=-12 2 9 x (—12) = -108
3 6% (—6)=-30 3 4 x (—11) = -44
£ 8x (=2) = -16 £ 6x(—3)=-18
5 11 x (—12) = -132 50 11 x (=11) = -121
6: 8 X (—8) = -04 6: b x (=1)=-5
7. 5% (—6) =-30 7 7T X (—4)=-28
s 4% (1) = s 10 x (—10) = -100
9: 8 X (=5) = -40 9: 6 x (—=1)= -6
10: 9 x (—=12) = -108 10: 1x(—4)=-4
11: 8 x (—3) = -24 1: 4x (=2)=-8
12 12 x (—10) = -120 122 4 X (=5) = -20
13 1% (—11) = -11 134 x (—12) = 48
14: 8 x (—8) = -04 14: 2% (=9)=-18
15 12 x (—=1) = -12 15: 10 X (—6) = -60
16: 7% (—6) = -42 16: 6 X (—8) = -48
17: 7x (=5) = -85 17: 10 x (=5) = -50
18: 6 x (=9) = -54 18: 6 x (—8) = -48
19: 2% (=2) = -4 19: 3 X (=h) = -15
200 2 X (—9) = -18 20: 7% (—9) = -63
21: 10 x (—4) = -40 21: 11 x (=7) = -77
2. 9 x (—10) = -90 22 10 x (—11) = -110
23: 6 X (—6) = -36 23: 3 x (—12) = -36
21 10 x (—8) = -80 2. 5 % (—9) = 45
25: 3 X (—=h) = -15 25: 12 % (—=5) = -60
mul_1to12-12to-1 mul_1to12--12to-1
010 7 September 2014 5
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Question 11
0: 12 X (—6) = -T2
112 % (=7) = -84
2 3% (—6) = -18
5 11 x (—3) = -33
8% (—3) = -24
5 9% (=5) = -45
6: 4 x (—6) = -2/
7 10 x (—12) = -120

g 1x(—=9)=-9

0. 9% (—10) = -90
10 8 X (—7) = -56
1 1% (—10) = -10
122 2x (—4) = -8
13: 6 x (—6) = -36
14: 8 x (—9) = -72
15: 7Tx (=1)=-7
160 8 X (—8) = -6/
17 1 x (—=10) = -10
18: 6 x (—11) = -66
190 9 % (=8) = -72
20: 3 X (—7) = -21
21 4 % (—10) = 40
22: 5 X (=3) = -15
23: 7% (=h) = -85
24: 8 X (—12) = -96
25: 4 x (=3) = -12

mul_1to12_-12to-1

25 marks] Question 12 [25 marks]

0 8 x (—8) = -64
17X (=2) = -14
2 A% (=1) = -4
5 9% (—1) = -9

10: 11 x (=8) = -88
11: 4 X
12: 4 X

13: 3 X

15: 7 X

16: 8 X

(
(
(
14 4 x (—6) = -24
(
(

17: 10 x (—=11) = -110

18: 2 X (—=6) = -12
19: 2 X (—4) = -8
20: 9 x (—9) = -81
21: 6 x (—11) = -66
22: 5 x (—=12) = -60

23: 12 x (=7) = -84
24: 9 x (—1)=-9
25: 5 X (—6) = -30

mul_1to12_-12to-1
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Question 13 |25 marks] Question 14 |25 marks]
0 1x (—=2) = -2 0. 2 x (—8) = -16
LT % (—9) = -63 L4 % (—6) = -24
2 5 x (—4) = -20 2 12 (=5) = -60
3 12 x (=5) = -60 3 1% (=5)=-5
£ 6 x (—2) = -12 4 11 % (—10) = -110
5 3% (=2) = -6 5 8% (—1) = -8
6: b x(=1)=-5 6: Hx (—=3)=-15
7 2% (=9) = -18 7 10 x (=9) = -90
8 b x (=h)=-25 8 6x (—2)=-12
9: 3 x (—10) = -30 9: 12 x (—8) = -96
10: 11 x (—4) = -44 10: 4 x (—12) = -48
11: 10 x (—10) = -100 11: 9 x (—10) = -90
12 7 x (—3) = -21 12 6 % (—2) = -12
13: 1% (=7)=-7 13: 3% (=1)=-3
14: 12 x (—6) = -72 14: 1 x(=3)=-3
15 9 x (—12) = -108 15 8% (1) = -8
16: 12 x (=7) = -84 16: 7x (=7)=-49
1 1 x (—12) = -12 17: 6 x (—11) = -66
18 12 % (—11) = -132 18 2 x (—12) = -2/
19: 1 X (—=6) = -6 19: 2 X (—6) = -12
20: 5 x (—6) = -30 20: 6 % (—12) = -72
21: 1 x (=9) = -9 21: 7 x (—10) = -70
22: 2 X (=7) = -1 22: 8 X (—9) = -72
23: 6 X (=5) = -30 23: 12 x (=3) = -36
24: 10 x (=3) = -30 24: 9 x (—9) = -81
25 10 % (—8) = -80 25 4 % (—12) = 48
mul_1t012_-12t0-1 mul_1to12--12to-1
010 7 September 2014 7
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Question 15

0: 4% (—4) =
1 9x (=3) =
2 9x (—4) =
5 6 x (—9) =
4 6% (=3) =
5 1% (—12) =

6: 10 x (—6) = -60
7. 11 X (=5) = -5
8 2% (—4) = -8

0 6% (—2) = -12

10: 3x (—=1)=-3
112 % (—12) = -144
122 1 x (=2)=-2

13: 10 x (—=10) = -100
1 12 % (=9) = -108
15 1 x (—4) = -4

16: 10 x (—1) = -10
17: 12 x (—8) = -96

18: 1 x (=5)=-5
190 8 % (—6) = -48
20: 8 X (—1) = -8
21: 8 x (—9) = -72
22: 3 X (—12) = -36
23: 9x (—1)=-9
24: 2 x (—6) = -12
25: 9 x (—8) = -72

mul_1to12_-12to-1

25 marks] Question 16 |25 marks]
0: O X (—].2) = -60
L Tx(=1)=-7

2 Tx (=1)=-7

10: 10 x (=7) = -70
11: 4 x (—9)
12: 5 x (—1)
13 1% (=7) = -7
14 2 % (=7)
1510 x (—12) = -120
16: 6 % (—3)
17 3 x (—8)
18 9 x (—1)
19: 5% (=1) = -5
20: 4 x (—6)
21: 5 x (—3)
22: 12 x (—2)
23 2 x (—10)
24 7% (—10) = -70
25 9 x (—11)

mul_1to12_-12to-1
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25 marks|

Question 18

25 marks]

Question 17

— 96

0: (—12) X 8

S ~
S T oo
1 1
I I | I
o | Ie) —
— —
X
X Py X X
~~ O ) ~
[@p) — < Ne)
NN
— & & <f
=)
~+ o~ Ne)
N N o~
1 1 __ 1
S
— o) — a
X X X X
~~ ~~ — —
a <t r~ o0

= -70

5 (—10) X 7

5 (=5) x 9= -45

= -00

6: (—10) x 6

-99
-2/

6: (—11) x 9

-18

7 (—2) X9

7 (—8) X 3

-16

8 (—4) x4

= -60

8 (—6) x 10

= -96

9: <—12) X 8

o (—1) x4 =4

-30

10: (—5) x 6

-12

10: (—3) X 4

= -80

11: (—10) x 8

-16

1: (—2) x 8

= -55

12 (—h) x 11

-8/
-20

122 (—=12) x 7

= -60

13: (—10) x 6

13: (—10) x 2

14: (—9) x 12 = -108

-30
42
-8

14: (—10) x 3

= -28

15 (—4) x 7

15 (—6) x 7

16: (—2) x 2= -4

16: (—2) X 4

— -88

17 (—8) x 11

= -21

1 (=3) x 7

= 27

18: (—9) x 3

18 (—1) x4 =-4

= -56

19: (—12) x 3

=9

19: (=3) x 3

-15

20 (—H) x 3

-27

20 (—9) x 3

— 28

21: (—4) x 7

21: (—4) x2=-8

-24
-1

22: (—4) X 6

-10

22: (—1) x 10

23 (—1) x 1

-28

23: (—4) x 7

— 99

24: (—11) x 9

24: (—3) x3=-9

25 (—11) x 11 = -121

-27

25: (—9) x 3

mul_-12to-1_1to12

mul_-12to-1_1to12
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Question 20

25 marks]

Question 19

& ~ S« 70y
[
I I
I Il I I = I
(=) a I~ O % — — <ff
X X X X 2 x x X
—~ — ~—~ —~ — ~—~ ~—~ ~~
r~ [@p) <t L — (o] I~ <t
Lo oL
N ™ = S S
g NI F T
1 1 [ |
(I .
[a] — (an) —
<t — — <+ [=p o0 % X
X X X X x x -~ -
—~ —~ —~ —~ —~ —~ @) o
<t N o) L0 Ne) — — —
L ool

= -96

s (—12) x 8

= -70

s (—10) x 7

= -22

o: (—11) x 2

0: (—12) x 10 = -120

-81

10: (—9) x 9

= -60

10: (—].2) X 5

= -44
49

1: (—11) x 4

-90
-40

11: (—9) x 10

12: (=7) %7

12: (—8) x5

= .55

13: (—11) x5

= -33

13 (—11) x 3

=7

14: (=7) x1

= -50

14: (—10) x 5

-12

15 (—12) x 1

15 (—12) x 12 = -1/

= -66

16: (—11) x 6

-88

16: (—11) x 8

S S
R D D R
~+ 1 [ ~
1 1
I Il I I
e} =}
NeJ — — (o]
X X X X
~~ — — —
o0 (=) [=p} (=]
L L 0L
— — — N
S 0
Ne) ~ LX) Ww.
[ o' 1 [
|
I I I I
] O N
— (@) % —
X x 2 X
—~ —~ — ~~
NeJ (o) — a
L L L

21: (—1) x4 = -4

-12

22: (—12) x 1

23: (—10) x 10 = -100

-15

23: (—5) x 3

= -2

24: (—2) x 1

-12

24: (—12) x 1

— 88

25: (—11) x 8

25: (—=5) X 9= -45

mul_-12to-1_1to12

mul_-12to-1_1to12
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25 marks|

Question 22

25 marks]

Question 21

N

0 ™

S © S o 0D ~
— Sp) 0 o = o oe) 1 ~
| 1 ~ >~ 1 ! | N N
oo o
T T
o0 I~ — — <# (e

X X X X
[a] (o] —~ —~ (@] —~ —~ —~ — —~
— — Nej — — (@] Nej I~ — I~
Lo il 4L b 4L

S S
~ ~

e} ~ N =) ~ o~
pry } S N - S B ; S~
1 ~ A 1 N [ [V} |
(I T T
O T T (e S | I

[ap) — <t — <t
x x < X X
[a] — —~ —~ —~ —~ —~ o —~ —
— — o) 0 — 10 0 — o) —
N P S N S N N VN PN

10: (—4) x1=-4

-10

10: (—=2) x5

™ S N ) o~
A
Il I I I Il
D~ 0] < D el
X X X X X
~ Y~ o~ o~
D Lo oo L0 D
NN NN
— — —~ — —~
Ne) Ne)
NS ™ N by
S SR~
1 1 1
A T S T
— (an)
X X - x X
—~ —~ (o] —~ —~
Ne} a — <t o]
NN NN

= -60

16: (—10) x 6

-55
-1/

17 (—=5) x 11

18: (—7) x 2

-16

18 (—2) x 8

= -80

19: (—10) x 8

19: (—10) x 10 = -100

= -28

20: (—7) x4

= -60

20: (—10) x 6

-16

21: (—4) x 4

= -80

21: (—10) x 8

22: (—4) x 1= -4

22: (—12) x4 = -48

-7

23: (—7) x 1

-12

23 (—3) x 4

= -2

24: (—1) x 2

24: (—3) x2=-6

= 27

25: (—9) x 3

= -20

25: (—2) x 10

mul_-12to-1_1to12

mul_-12to-1_1to12
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25 marks|

Question 24

25 marks]

Question 23

o N ~
0 ~ S ©
K_u N 1 /_4 ~ S [
1 1 | 1
I I I
Il I I I
(@] [} <t
— <t — % N o0 I~
X X X 2 X X X
— —~ ~—~ i — ~—~ R
0 b~ — — LO — o0
D NN
~ N N
N ~+ ~ Ne D N
L0 ™~ N ! ™~ ! !
I ! | |
I Il Il
I Il L
L0 Ne) <t <t
X X X
—~ —~ — — —~ (& —
— (o] Nej — <# — —
D N

-6/

7 (—8) X 8

T (—9) X 5= —45

= -80

8 (—10) x 8

-1/
48

8 (=2) x 7

9: <—9) x1=-9

9: (—8) X 6

= -90

10: (—9) x 10

-88
-54
-5

10: (—].1) X 8

= -00

1: (—11) x 6

11: (—9) x 6

= -80

12 (—10) x 8

12: (—=H) x 1

-8/

13: (=7) x 12

=-35

13 (=5) x 7

=)
~ SO
S ~ Ne} S =
S
| |
I
| I I I
0 = omon g
X X
(@] o —~ —~ —~
— — o0 (=} g
NN NN
— — — — —
= S =)
N N 0 Ne) N
1 o 1 ~ 1
| |
I I I I I
) @) )
— 0 — o0 —
X X X X X
— —~ —~ —~ —~
A < 0] a o
NN NN

-06
-54

21: (—12) x 9= -108

19: (—6) x 11

20: (—6) x 9

21: (—6) X 8 = -48

= -T2

22: (—6) x 12

= -30

22: (—12) x 3

= -27

23: (—3) x 9

= -20

23: (—4) X 5

= -7

24: (—7) x 1

-60
-14

24: (—5H) x 12

25: (—3) x3=-9

25: (—7) X 2

mul_-12to-1_1to12
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25 marks|

Question 26

25 marks]

Question 25

S N =)
~ > N
o S ) ~ ~ o N S S ~ ~
[ ™~ Ne) X\ S ~ N Ko\ ~ ~ S ~ S [N ©o 5] N
N N ~ I > ™ o o~ SoREE S ~ © Il I
o oy s o e e o o o 55
—~ —~ —~ — —~ —~ —~ —~ —~ — (aw]
D —~ —~ o O —~ — —~ i —~ — —~ —~ — —~ —~ i —~ —~ —~ R 0 ~—~ —~ i —
_ D~ — — _ NeJ | [ap) | (@] — Ne) ap) | — N | [aN] o0 L0 o0 | I~ ap] | |
o —~ —~ —~ i —~ @) —~ — —~ —~ —~ —~ (o] —~ —~ @] _— —~ — —~ o —~ —~ [a] (o]
— ™ (o] LO — 0 — o™ — < LO [@p) (o] — Ne) LO — < Ne) (@) a — Ne) (o] — —
Lo oo e oLl
S — N o) < i) ) = ) = S — & ) < i) S = 0 = S — N e < )
— — — — — — — — — — [a\] [a\] N [a\] [a] N
Ne} S N ~ ~ Ne}
B © 8 e~ N R N T e~ S o~ XN QO N
~ L) D N ~+ ~+ L) ~ ~+ &) 0 N o ~ Se) ~ N S o~
L T . N N S NN TN A /[
—~ —~ —~ —~ —~ —~ —~
L0 —~ Ne) e e ~—~ o~~~ @) —~~ —~ e R —~ — (o] (o] —~ — ~—~ o~
— - _ _ _ _ _ _ _ _ _ _ _ _ I — — — _ _ _ _ _
% ~ % N N N N N % % % —_— —  — ~— ~—  —
Tx 2 X X X X X X X X X X X X X x 2 7 9 x x x x x x
[a] —~ — —~ —~ —~ —~ —~ —~ —~ —~ —~ —~ —~ —~ —~ —~ [a] [a] (o] —~ — —~ —~ —~ —
— [a\| — Ne) — (ap] — Ne) | Ie) L0 L0 D~ @] a [ap] — < — — — o0 D Nej r~ [ap] D
Lo ool
S — & ™ < 0 ) = 6 > S — N o) < i) S = o0 = S — N ) < o)
— — — — — — — — — — xQ ™ N N N a

mul_-12to-1_-12to-1

mul_-12to-1_-12to-1
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Question 28

25 marks]

Question 27

S
~ o)
o ~ = = =) ~ ~ Ne} N S = =) )
N I >~ SN S ~ ~ ~ 0 ™ ~ o~ ~ v ~ o o ™
I | I Il I Il Il Il I I Il Il
T T T T | L N L A N [ A | RN R
(@] — — (@] [ap) @) —~ —~ —~ —~ —~ —~ —~ — —~ (@] o —~ (@] <t —~ (@] O —~ —~ —
— = = _ _ _ _ _ _ _ _ _ _ _ _ I — I~ _ _
T x 2 x 20X X XX XXX XXX X X o ox o x 2 x x Z x x x
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Question 33 |25 marks] Question 34 |25 marks]
0: (=5) x (=7) =35 0: (—4) x (—8) =32
1 6 % (—6) = -36 1 10 % 6 = 60
2 (—11) x (—6) = 66 2 (—12) x 11 = -132
3 (=7)x2=-14 3 2X2=/
£ 2x 7 =1/ £ (—1) x (-8) = 8
5 (1) x 1= -1 5 (—1) x (—12) = 12
6: 4 X 6= 2 6: 3x (—11) = -33
72X (—2) = -4 7 (—11) x (=1) = 11
s (—T)x0=0 s 0x1=0
9: 7 X (—=8) = -56 9: (=b) x 12 = -60
10: 4% (=7)=-28 10: (=7) x4=-28
11: 10 x (—=11) = -110 11: 2x 5= 10
122 8 x 11 =88 12: 10 x (=3) = -30
13: 2x1=2 13: 9 x 3= 27
14: 2 x (=b) = -10 14: (—9) x 6 = -54
15: 0x2=10 15: (—10) x (=9) = 90
16: (—10) x 0= 10 16: 7x 10 =70
17: 9 x (—10) = -90 17 11 x (—4) = -44
18 TX 8= 56 18: 2% (—=1)=-2
19: (=7) x9=-63 19: 8 X (—8) = -64
200 H5x1=194 200 (—1) xb=-5
21: (—3) x (—6) = 18 21: 4 X 9= 36
22: (—10) x (—1) = 10 22: (—11) x (—4) = 44
23: 11 x 1= 11 23: (—1) x 12 =-12
21 T x (—3) = -21 21 10 x 10 = 100
25 (—8) x 4= -32 25 (—10) x T = -70
mul_-12t012.-12t012 mul_-12t012--12t012
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Question 35

0: 11 x9=99

25 marks]

18 x (—6) = 48
26x1=20

3 12 x (—=8) = -90
4 (—=2) x (—11) = 22
5 (—9) x 8 = -72

6: 3x0=10

7 (=1)x (=5) =145
g: 10 x 9= 90

o: (—10) x 2 = -20
10: 1 x(=5)=-5

11: (=9) x (=9) = 81
122 9X 7= 63

13: 9X 7= 063

14: (—6) x (—=3) = 18
15 (—12) x (—=2) = 24
16: 4 x (=1)= -4

17: (=5) x (=9) = 45
18: 8X 3= 24

19: (=5) x1=-5

20: (—5) X (—=6) = 30
21: 12 x6 =72

22: (—10) x 7= -70
23: 3 X (—12) = -30
24: (—6) x 0= 0

250 8 X 12 = 96

mul_-12to12_-12to12

Question 36

0:

1:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks|
(=7) x (—4) = 28
(—11) x 9 = -99

(—2) x 5= -10
ox1=15

(—10) x (=3) = 30
(—3) x (—9) = 27
(=7) x 10 = -70
(—4) x9=-36
(=2)x3=-0
(=7) x 8 = -56
6x(—=1)=-6

10 x (—11) = -110

(—10) x (—12) = 120
(=11) x (—4) = 44
4% (—4)=-16

mul_-12to12_-12to12
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Question 37 |25 marks] Question 38 |25 marks]
0 (—12) x (=8) = 96 0 1% (=11) = -11
11X 11 = 11 1 (=3) x 8 = -2/
2 2x3=6 2 2% (=2) = -4
5 (—4) x (=2) = 8 5 (=1) x (=1) = 1
4 (=10) x (=10) = 100 £ (=2) x (=8) = 16
5 (—11) x 2 = -22 5 4 x (—1) = -4
6 (—5) x (—10) = 50 6 3 x (—6) = -18
7 (=T) X 9= -63 7 (—11) x 4= -44
55X 8= 40 5 (—12) x 6 = -72
o (—1) x (—4) = 4 0 6% 6= 36
10 (=8) x (—4) = 32 10 (—10) x 8 = -80
1 (—6) x (—6) = 36 e (—2) x (—2) =
12: 4 x (=6) = -2 12 (—8) x 12 = -96
13 (—11) x 12 = -132 18 (—4) X 6 = -24
1 11 x 8 = 88 14 (=9) x 1= -9
15 (=8) x (—6) = 48 15 10 x (—12) = -120
16 (—6) x 3= -18 16: 5 X 7= 35
17 0% (—11) = 0 17 (—8) X (=5) = 40
15 (—2) x (—8) = 16 15 6 x (—11) = -66
19: 11 % (=3) = -33 19: 4 x (—8) = -32
2. (—=2) x 0= 0 2. (=7) x (=7) = 49
o1 (—12) x 10 = -120 o1 (—2) x 2= -4
2 (—2) x 0= 0 2. (—9) x (=2) = 18
2% 3x3=0 2. (—7) x 4= -28
21: 9 x (=9) = -81 21 (—1) x (=1) =
25 (—8) x 10 = -80 25 12 % (—2) = -24
mal- 131012121012 121012131012
010 7 September 2014 19
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Question 39 |25 marks] Question 40 [25 marks]
0: 12x9 =108 0: (—8) x 11 = -88
1 (=2)x (=7)= 14 1 (=5) x (=5) =25
2 (—10) x 3 = -30 2 (—10) x (—10) = 100
3 (—11) x (=5) = 55 3 10 x (=7) = -70
£ 5x8=40 £ 2x1=2
5 7x10= 70 5. (—8) x (—6) = 48
6: (—3) x (=7)= 21 6: (—8) x (—6) = 48
7. (—10) x (=1) = 10 7 3% (—11) = -33
g 1 x1=1 8: 3x0=10
9 Tx1=7 9 (—=11) x 7= -77
10: 2x4=38 10: 8 X (=5) = -40
11: 5x2=10 1: 3x (—=1)=-3
2 (=2) x 1= -2 12 11 x 2 = 22
13: 0x 12=10 13: (—=8) x 12 =-96
14: 7Tx (=7) = -49 14: 3 X 8= 24
15 (—9) x (=3) = 27 15 (—4) x 7= -28
16: 9xX 7= 03 16: 12 x (—11) = -132
17 (=5) x 7= -85 17 2 X (—6) = -12
18 (=7)x7=-49 18: (—4) x (—12) = 48
190 1x9=19 19: 1 x (—4) = -4
20: 4 X (—8) = -32 20 (—11) x 9= -99
o1 (—8) x 3 = -2/ 21 (—11) x 11 = -121
22: 2 X (—4) = -8 22: 7 X (—3) = -21
23: 6 x (—9) = -5/ 23 (=7)x2=-14
24: (—12) x4 = -48 24: (—4) x (—8) = 32
25 (—T)x 1= -7 25 3% 10 = 30
mul_-12t012.-12t012 mul_-12t012--12t012
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Question 41 |25 marks] Question 42 |25 marks]

0: (—2) x 20 =-40 0: (=9) x4 =-36

LOX3=0 1 (—10) x 5 = -50

2 14 % (—11) = -15/ 2 18 x (—19) = -242

5 19 x (—20) = -980 5 17 % (—2) = -3

& (~1)x 6= -6 £ (~14) x 1= -1/

511 x 13 = 149 5. (—16) x (—15) = 240

6 (—5) x 19 = -95 6: 5% (—19) = -95

7. (—15) x 6 = -90 7 0x (—10) =0

s (—16) x 6 = -96 s (—18) x (—1) = 18

0. (—15) x (—15) = 225 0. (—14) x (—15) = 210

100 10 X (—17) = -170 10: 12 % (—16) = -192

11 (—10) x 13 = -130 1 0x 14 =0

122 (—=9) x (=13) = 117 122 (—14) x 6 = -84

13: 2 X 18 = 36 13 (—1) x (—=8) =8

1 (—19) x 19 = -361 1 9% 6= 5/

15 (—17) % (=10) = 170 15 (—8) x 20 = -160

16: 15 x 12 = 180 16: 7TxXb=35

17 14 x 17 = 238 17: 15 x 19 = 285

18 (—4) x (—4) = 16 18 (—14) x 13 = -182

19: 20 X (—5) = -100 19: 20 x 12 = 240

20: b x 4= 20 20 (—17) x (—20) = 340

21 (—8) x (—4) = 32 21: 20 % (—14) = -280

22 11 % (—1) = -11 2. 4% 3= 12

23: 6 x (=3) = -18 23: 20 x 15 = 800

20 11 x 20 = 220 21 (—8) x 12 = -96

25: Tx1=7 25: (—12) x 4= -48
mul_-20t020--20t020 mul_-20t020_-20t020
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Question 43 |25 marks]

0 (—20) x (—16) = 320

L 8% 8= 64

2 (—19) x (—10) = 190

5 13 % (—15) = -195

4 2x15= 30

514 x 15 = 210

6 (—4) x (—15) = 60

7. (—16) x 8 = -128

8 0x20=10

0. (—14) x 2 = -28

10: 11 x 19 = 209

e (20) x (=2) = 40

122 (—18) x 19 = -342

1319 % (=7) = -139

14: (—15) x 10 = -150

15 (=2) x (—4) =8

16: 1 x (—=2)=-2

17: 7 x (=5) = -85

18: Tx 3= 21

190 2% (—12) = -24

20 (—16) x (—8) = 128
21 (—11) x (—=15) = 165
22: (—12) x 2

23: (—11) X 6 = -60

24: 7% (—15) = -105
25: (—20) x 3 = -60

mul_-20to20--20to20

Question 44 |25 marks]
0: 8 X 17 =136
1 (—18) x 16 = -288
2 17 x (—10) = -170
3: DX 5 =25
£ (—18) x 8 = -1/
5 15 x99 =135
6 (—10) X 6 = -60
7 (—1)x9=-9
8 14 x 7= 98
o: (—2) x 13 = -26
10: (=3)x4=-12
11: (—=5) x 8 = -40
12: (—19) x 20 = -380
13 11 x (=11) = -121
14 (—20) x (—16) = 920
15: 0 x5=10
16: 8 X 17 =130
17: 12 x (—=13) = -156
18: 7% (—11) =
19: (=5) x (=1)=145
20: (=8) x (=10) = 80
21 (—20) x 12 = -240
22: 12 X (—4) =
23 14 % (—9) = -126
24: (—10) x 0= 10
25: 0 x 10 =0

mul_-20to20_-20t020
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Question 45 |25 marks] Question 46 |25 marks]
0: (=9) x (=3) =27 0: 13 x (—12) = -156
L (—12) x 0 = 1 (=5) x 6= -30
2 20 x (—14) = -280 2 14 x 16 = 22/
3 15 x (=7) = -105 3 16 x 18 = 288
& 16 x (—9) = -1// £ (—6) x 9= -5/
5. (—14) x 19 = -266 5. (=5) x (—8) = 40
6 2% 18 = 36 6: (—10) x (—10) = 100
7 13 % (—16) = -208 7 (—17) % (=10) = 170
s (=5) x (=17) = 85 s 10 x (—17) = -170
0 6x 7 =42 0. (—1) x (—15) = 15
10: (—4) x 11 = -44 10: (—17) x 16 = -272
1: (=2)x6=-12 1: 8 x (—=1) = -8
122 8 X 3= 24 122 0 x (=13) =0
13: (—15) x (—=11) = 165 13: 2 X (=2) = -4
e 12% 2= 94 1w 17 % 6 = 102
150 (—17) % (—8) = 136 15 (—9) x 20 = -180
16: (—3) x3=-9 16: 3 X (—16) = -48
17: 17 x4 = 68 17 17 x 17 = 289
18: (=2) x (=5) = 10 18: (—4) x (—4) = 16
190 (—16) x 13 = -208 190 (—13) x (—6) = 78
20: 12 x 20 = 240 20 (—17) x 3 = -51
21: 19 x (—10) = -190 21: 12 x 13 = 156
22: (—7) x 13 = -91 22: 17 x (—13) = -221
23 11 x 13 = 143 23 20 x (—12) = -240
24: (—5) x (—=14) = 70 24: (—10) x (—4) = 40
25: (—12) x (=7) = 84 25: (—3) X 14 = -42
mul_-20t020--20t020 mul_-20t020-20t020
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Question 47

0:
1:

2:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks]

8 x 15 =120

19 x (—10) = -190
(-11)x0=10
(—14) x 15 = -210
10 x 3 = 30

(=9) x (=6) = 54
2x1=2

3x (—12) = -36
18 x (—3) = -5/
(—8) x 17 = -136
1 x(=10) = -10
15 x (—13) = -195
(=7) x (=10) = 70
(—13) x (=11) = 143
10 x (—9) = -90
(—1) x (—18) = 18
15%x3=45

7x (=11)=-77
20 x 14 = 280

4% (=5) = -20

9 x (—19) = -171
14 x 3 =42
IxT7=21

15 x (—=2) = -30

5 x (—10) = -50

(—3) x 8 = -24

mul_-20to20--20to20

Question 48

0

1

2:

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24

25

: 3 x 18 =54

c1x (=1) = -1
(=5) x (-1)=145

9 x (—10) = -90
(—19) x (—9) = 171
8x0=10
2x(—6)=-12
4x19="76
5x17= 85

(—11) x 7= -77
(—10) x (—19) = 190
3x3=19

6 x (—6) = -36

12 x 11 = 132
2x10= 20

(—20) x 11 = -220
(—15) x 18 = -270
(—10) x (=2) = 20
3x(=2)=-6

17 x (—18) = -306
(—10) x 1 = -10
11x0=20
9x14=126

(—6) x (—14) = 8/
: 4 x20= 80

5 x8=40

mul_-20to20_-20to20
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